### **2008 IJA Teams Stage Championships Scores**

Competitor #	Name	
1	Taiwan Physical Education College (TPEC)	
2	Kikyo Brothers	
3	Sharp Brothers	

#### **TEAMS- FINAL RESULTS**

Competitor	Score	Place
1	68.6	3
2	75.68	2
3	78.64	1

#### **TEAMS- COMPETITOR'S RESULTS**

Competitor 1

Judge	Α	В	С	D	Е	F	G
Execution	4.5	3.9	4.5	3.8	4.2	3	3.6
Entertainment Level	4.5	2.8	4.2	2.8	4	2.9	3.8
Degree of Difficulty	4.3	3.2	3.3	2.2	3.8	2.8	3.6
Theatrical Framing	4.3	2.8	2.8	2.1	3.6	2.6	3.6
Creativity	4.5	3	2.7	2.3	3.8	2.8	3.6
Element of Risk	4.2	3	3.5	2.5	3.4	2.6	3.6
Stage Presence	4.2	2.5	3.8	2.7	3.8	2.5	3.2

	Score Removed			Mult.	
	High	Low	Average	Factor	Points
Execution	4.5	3	4	4	16
Entertainment Level	4.5	2.8	3.54	4	14.16
Degree of Difficulty	4.3	2.2	3.34	3	10.02
Theatrical Framing	4.3	2.1	3.08	3	9.24
Creativity	4.5	2.3	3.18	3	9.54
Element of Risk	4.2	2.5	3.22	2	6.44
Stage Presence	4.2	2.5	3.2	1	3.2
Time Penalty (-)					
Total Points		-			68.6

#### **TEAMS- COMPETITOR'S RESULTS**

Competitor 2

Judge	А	В	С	D	Е	F	G
Execution	4.6	3.9	3	4.2	4.2	2.8	4
Entertainment Level	4.7	4.2	4.3	4.5	4.2	3.2	4
Degree of Difficulty	4.8	4	4.2	4.3	4.3	3	4
Theatrical Framing	4.5	3.8	2.7	3.8	3.8	2.9	3.8
Creativity	4.5	2.9	2.3	2.9	3.6	2.9	3.6
Element of Risk	4.5	2.8	3.3	3	4.5	3.4	3.8
Stage Presence	4.9	4	4.5	4.3	4.2	2.8	4

	Score Removed			Mult.	
	High	Low	Average	Factor	Points
Execution	4.6	2.8	3.86	4	15.44
Entertainment Level	4.7	3.2	4.24	4	16.96
Degree of Difficulty	4.8	3	4.16	3	12.48
Theatrical Framing	4.5	2.7	3.62	3	10.86
Creativity	4.5	2.3	3.18	3	9.54
Element of Risk	4.5	2.8	3.6	2	7.2
Stage Presence	4.9	2.8	4.2	1	4.2
Time Penalty (-)					1
Total Points					75.68

#### **TEAMS- COMPETITOR'S RESULTS**

Competitor 3

Judge	А	В	С	D	E	F	G
Execution	4.3	3.8	3	4.2	4	2.7	4
Entertainment Level	4.7	4.2	4.8	4.6	4.1	3.2	4
Degree of Difficulty	4.7	4.3	4.6	4	4.2	3.8	4
Theatrical Framing	4.4	2.7	2.5	3.9	4	3.6	3.6
Creativity	4.7	3.9	2.5	3.4	3.6	3.7	3.6
Element of Risk	4.6	3.5	4.6	3	4.1	3.6	3.9
Stage Presence	4.9	3.8	4.6	3.9	4	3.6	3.8

	Score Removed			Mult.	
	High	Low	Average	Factor	Points
Execution	4.3	2.7	3.8	4	15.2
Entertainment Level	4.8	3.2	4.32	4	17.28
Degree of Difficulty	4.7	3.8	4.22	3	12.66
Theatrical Framing	4.4	2.5	3.56	3	10.68
Creativity	4.7	2.5	3.64	3	10.92
Element of Risk	4.6	3	3.94	2	7.88
Stage Presence	4.9	3.6	4.02	1	4.02
Time Penalty (-)					
Total Points					78.64

Judge A

Competitor	1	2	3
Execution	4.5	4.6	4.3
Entertainment Level	4.5	4.7	4.7
Degree of Difficulty	4.3	4.8	4.7
Theatrical Framing	4.3	4.5	4.4
Creativity	4.5	4.5	4.7
Element of Risk	4.2	4.5	4.6
Stage Presence	4.2	4.9	4.9

Judge C

Competitor	1	2	3
Execution	4.5	3	3
Entertainment Level	4.2	4.3	4.8
Degree of Difficulty	3.3	4.2	4.6
Theatrical Framing	2.8	2.7	2.5
Creativity	2.7	2.3	2.5
Element of Risk	3.5	3.3	4.6
Stage Presence	3.8	4.5	4.6

Judge B

Competitor	1	2	3
Execution	3.9	3.9	3.8
Entertainment Level	2.8	4.2	4.2
Degree of Difficulty	3.2	4	4.3
Theatrical Framing	2.8	3.8	2.7
Creativity	3	2.9	3.9
Element of Risk	3	2.8	3.5
Stage Presence	2.5	4	3.8

Judge D

Competitor	1	2	3
Execution	3.8	4.2	4.2
Entertainment Level	2.8	4.5	4.6
Degree of Difficulty	2.2	4.3	4
Theatrical Framing	2.1	3.8	3.9
Creativity	2.3	2.9	3.4
Element of Risk	2.5	3	3
Stage Presence	2.7	4.3	3.9

Judge F

Competitor	1	2	3
Execution	3	2.8	2.7
Entertainment Level	2.9	3.2	3.2
Degree of Difficulty	2.8	3	3.8
Theatrical Framing	2.6	2.9	3.6
Creativity	2.8	2.9	3.7
Element of Risk	2.6	3.4	3.6
Stage Presence	2.5	2.8	3.6

Judge E

Competitor	1	2	3
Execution	4.2	4.2	4
Entertainment Level	4	4.2	4.1
Degree of Difficulty	3.8	4.3	4.2
Theatrical Framing	3.6	3.8	4
Creativity	3.8	3.6	3.6
Element of Risk	3.4	4.5	4.1
Stage Presence	3.8	4.2	4

Judge G

Competitor	1	2	3
Execution	3.6	4	4
Entertainment Level	3.8	4	4
Degree of Difficulty	3.6	4	4
Theatrical Framing	3.6	3.8	3.6
Creativity	3.6	3.6	3.6
Element of Risk	3.6	3.8	3.9
Stage Presence	3.2	4	3.8